Extreme Fatbar &38
HIGHWAY HAWIK .
e o Kawasaki VN 900

e 4
e Art.no. 594-018
Components

1 [Extreme Fatbar 238 x|
2 |Bolt M6 x 60 * 1X
3 |Bolt M6 x 30 1x

N 4 |Washer M6 2X
5 | Spacer @19 x 31 1x
6 | Washer M10 2x
7 | Spacer @20 x 5 2x
8 |Bolt M6 x 25 X
9 | Springwasher M6 1x
10| Spacer @20 x 10 1X

== ]
N o

*In combination with
VN 900 Radiator Cover
Art.nr.: 714 - 6192

i

A =%

_ 9

e (C)

2
Use original part

6
55

\

Use original part

o

Use original part

This accessory should be mounted by a professional mechanic only. © Moto-Lux Specialties B.V.
MotoLux Infernational B.V. / Highway Hawk can not he held responsible for improper installation. RBarneveld - The Netheriands




